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10.

11.

12.

13,

14.

15;

16.

CUHE” FH HleT W AT &2
A. FHEYRT B.ag'ci’l% C. doqey D. 37T

A FAURY B. Sgfe C. TRy D. 3reaena
‘g8 ¥ 97 R B - 50 a9 & ¥ P FRe F Reg 2

A HH B. 0T C. Jrferor D. 3T9TeTe
AT B T F IgF F T v g Far ¥?
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The highest level need in the need hierarchy of Abraham Maslow is :
A. Safety needs  B. Belongingness need  C. Self actualization need  D. Prestige need

The “law of Returns to scale” applies to :
A. The short run, but not the long run B. The long run, but not the short run
C. Both the short run and the long run D. Neither the short run nor the long run.

What is the full form of MBO?
A. Management by Opportunity B. Method by Opportunity
C. Management by Objectives D. Method by Objective

When was economic reform programme introduced in India :
A, 1991 B. 1934 C. 1981 D. 1994

Number of observations are 30 and value of arithmetic mean is 15 then sum of all values is :
A. 15 B. 450 C. 200 D. 45

- Frequency distribution whose most values are dispersed to left or right of mode is classified as :

A. Skewed B. Explored C. Bimodal D. Unimodal

Standard costing is a technique of :
A. Planning B. Organising C. Coordination D. Control

BOLT system in Indian Securities Market is related to :
A. NSE B. BSE C. OTCE D. MCSE

When two or more companies carrying on similar business decide to combine, a new company is

formed, it is known as

A. Amalgamation B. Absorption |
C. Internal reconstruction D. External reconstruction

The profit on the reissue of forfeited share are transferred to :
A. Capital A/c B. Capital Reserve C. Profit & Loss A/c D. General issues

Under Section 80E of the Income Tax Act 1961, deduction in respect of payment of interest on loan
taken for higher education shall be allowed up to :
A. Rs.10000 B. Rs.15000 C. Rs.20000 D. Without any limit

The actual achievements compared with the objectives of the job:
A. Job performance B. Job evaluation C. Job description D. None of the above
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20.

21,

22,

23.

24,

25.

26.

RBI was nationalized on ?
A. 1July 1949 B. 26 January 1951 C. 1January 1949 D. 1 July 1955

The first electronic computer system was developed in :
A. 1920 B. 1940 C. 1930 D. 1950

Match the following:

List | List Il
(a) Trade Policy (1) Economic conditions
(b) Trade Flows (2) Economic policies
(c) Price Trends (3) Global linkage
(d) Internal Sectoral linkage (4) Structure & Nature of economics
CODES :
(a) (b) () (d)

A, 3 1 2 4

B. 2 3 1 4

C. 1 2 3 4

D. 1 2 4 3

Which institution is known as the ‘Soft Loan Window’ of World Bank?

A. L.F.C. (International Financial Corporation)  B. I.D.A. (International Development Assaciation)
C. L.LM.F. (International Monetary Fund) D. Indian Development Forum

Match the following :

List | List Il
(a) Comparative Cost Theory (i) Adam Smith
(b) Opportunity Cost Theory (ii) Gottfried Haberler
(c) Factor Endowment Theory (iii) David Ricardo
(d) Absolute Cost Theory (iv) Eli Heckscher and Ohlin
CODES :
(a) (b) (c) (d)
A. i i iii iv
B. iii i iv i
C. iv iii ii i
D. i iv iii ii

The first Stock Exchange in India was established in :
A. Kolkata B. Delhi C. Mumbai D. Chennai

“Sthanishvara” was the ancient name of which of the following city of Haryana?
A. Sirsa B. Sonepat C. Kurukshetra D. Karnal

“Thanesar” was the Capital city of which of the following famous ruler?
A. Harshavardhana B. Ashoka C. Chandragupta D. Kanishka

Who of the following was getting the weekly paper, ‘Sandesh” published from Bhiwani?
A. Lala Lajpat Rai B. Neki Ram Sharma C. Lala Hukam Chand Jain  D. Noor Samand Khan

The climate of Haryana is of the following type:

A. Continental type B. Sub-tropical Continental type
C. Sub-humid temperate type D. Sub humid sub tropical type.
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35.

36.

37:

38.
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40.

The first Nuclear Power Plant in the state of Haryana was set up in the following district:
A. Sirsa B. Bhiwani C. Hissar D. Fatehabad

Narnaul in Haryana is famous for the mining of:
A. Gypsum B. Limestone C. Iron ore D. Slate

The forest policy of Haryana was unveiled in which of the following years?
A. 2002 B. 2004 C. 2006 D. 2008

‘The Imperial Institute of Animal Husbandry and Dairying’, now called as ‘National Dairy Research
Institute (NDRI)’, was established in which of the following years?
A. 1921 B. 1923 C. 1925 D. 1927

In which of the following districts ‘Mahatama Gandhi Super Thermal Power Plant’ is situated?
A. Panipat B. Gurugram C. Sonipat D. Jhajjar

Who of the following was the First Governor of the State of Haryana?
A. Sh. Dharmender B. Sh. Dharamveer
C. Pt. Bhagwat Dayal Sharma D. Pt. Neki Ram Sharma

In which city of the Haryana is the India’s first and only design university namely “World University
of Design” located?
A. Sonipat B. Gurugram C. Rewari D. Hissar

In which year was the “Swasthya Aapke Dwar Scheme” launched by the Government of Haryana?
A. 2001 B. 2002 C. 2003 D. 2004

Which one of the following is the second most commonly practised religion in the state of Haryana,
after Hinduism?
A. Sikhism B. Buddhism C. Islam D. Christianity

Who of the following is also known as the ‘Tansen of Haryana’ ?
A. Dayaldas B. Lakhmi Chand C. Haridas D. Ramphal Chahal

In which part of the body is ‘Danda” a traditional silver ornament worn by the womenfolk of
Haryana?
A. Nose B. Ears C. Arms D. Fingers

How many texts of the ‘Nath Community,’ that were written in the Sharda script are found in the
Manuscript Museum of the Kurukshetra University?
A. Five B. Ten C. Fifteen D. Twenty

In which month of the year is the ‘Pinjore Heritage Festival’ celebrated by the Government of
Haryana?

A. September B. October C. November D. December

Which of the following ‘Silk Odhani’ is gifted in marriages to the bride, in the State of Haryana?
A. Phulkari B. Leh C. Lahariya D. Dimach
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The “Swachh Survekshan Gramin Award, 2019” was awarded by PM Narendra Modi and Union
Minister for Drinking Water and Sanitation, Uma Bharti to which of the districts of Haryana?
A. Karnal B. Gurugram C. Rewari D. Rohtak

In which of the following years was the ‘Haryana Sports and Physical Fitness Policy’ enforced?
A. 2014 B. 2015 C. 2016 D. 2017

Lila Ram from Haryana is very famous because he :

A. Won first gold medal in common wealth games

B. Won first gold medal in Asian games.

C. Won first gold medal in world boxing championship,.
D. None of the above.

Pashu Sanjivani Sewa Yojana of the Govt. of Haryana under which Veterinary Services through
mobile are provided at the door steps of the farmers, was initially launched in which of the
following three districts of the Haryana.

A. Panipat, Karnal, Kurukshetra B. Rohtak, Rewari, Jind

C. Jind, Yamuna Nagar, Nuh D. Gurugram, Mewat, Faridabad

“Mhara Gaon — Jagmag Gaon” scheme was started in the State of Haryana in which of the following
year?
A. 2013 B. 2014 €.2015 D.2016

In which district of Haryana ‘mobile court’ was introduced for the very first time.
A. Hisar B. Kaithal C. Mewat D. Jhajjar

When is the ‘International Literacy Day’ celebrated?
A. 8" September B. 10 September C. 20™ September D. 25" September

Which Article of the Indian Constitution was termed by Dr. B. R. Ambedkar, as the ‘Heart & Soul’ of
the Indian Constitution?
A. Article 14 B. Article 28 C. Article 32 D. Article 19

The First British Presidency in India was established at:
A. Calcutta B. Madras C. Bombay D. Surat

Which Indian city is also known as the ‘Little France?’
A. Goa B. Paniji C. Pondicherry D. Chennai

Vienna is the Capital of which of the following countries?
A. Hungary B. Lisbon C. Austria D. Australia

Which of the following British Prime Ministers declared that the British would withdraw from India,
latest by June 19487
A. Clement Attlee B. Robert Walpole C. Tony Blair D. David Cameroon

When was the First meeting of the Indian Constituent Assembly held?
A. January 26" 1946 B. August 1571947  C. December 9 1946 D. December 9" 1947

What is the hole on the surface of the Moon called as?
A. Black Hole B. Big Hole C. Crater D. Gray Hole
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55.  Ashok is ranked 9th from the top and 38" from the bottom among the students of the class. How
many students are there in the class?
A. 45 B. 42 C. 46 D. 44

56.  If Ais B's sister, Cis B's mother, D is C's father, and E is D’s mother. Then, how is A related to D?

A. Grand daughter B. Daughter C. Aunt D. Father
57.  Find out the missing alphabet?
A D G
D I N
l P ?
AV B. W C.X D.Y

Directions for attempting the Questions No. 58 & 59:

Read the following information given below to answer the questions No. 58 & 59 that follow:
AmongK, L, M, and N, L is heavier than K and M, but M is taller than him. N is not as tall as M, while K is
the shortest. M is not as heavy as K. N is heavier than L, but shorter than him.

58. Who is the heaviest?
A L B. K C. N D.M

59.  Who is the tallest?
A N B. M C. K D. Can not be determined

Directions for the questions number 60, 61, and 62.

Read the following information given below to answer the questions that follow:

Eight friends A, B, C, D, E, F, G, and H are sitting in a circle, facing the centre, not necessarily in the same
order. D sits third to the left of A. E sits to the immediate right of the A. F sits to the immediate left of A. B
is sitting third to the left of D. G is second to the right of B. C is an immediate neighbour of B. C is third to
the left of H.

60. Who amongst the following is sitting exactly between, F & D?
A C B. E C. H D. A

61. Who amongst the following is sitting second to the left of H?
A. E B. B C. A D. G

62.  Who amongst the following are immediate neighbours of G?

A. CA B. AF C. DC D. D,F

63.  |am three times as old as my son. Five years later, | shall be two and a half times as old as my son.
How old am | and how old is my son.
A. 45,15 B. 48, 16 C. 54,18 D. 36,12

64.  In how many different ways can the letters of the word “MIRACLE” be arranged?
A. 720 B. 5040 C. 2520 D. 40320
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65.

66.

67.

68.

69.

70.

78

#2.

73.

74.

T

76.

There are 5 cars to be displayed in 5 parking spaces with all the cars facing the same direction. Of
the 5 cars, 3 are pink, 1 is red and 1 is yellow. If the cars are identical except for color, how many
different display arrangements of the 5 cars are possible.

A 20 B. 25 C. 40 D. 60

The average weight of boys in a class is 30 kg and the average weight of girls in the same class is 20
kg. If the average weight of the whole class is 23.25 kg. What could be the possible strength of boys
and girls respectively in the same class?

A. 14 and 26 B. 13 and 27 C.17 and 27 D.19and 21

A canteen requires 798 bananas for a weak. Totally how many bananas will there be required for
the months of January, February and March, 2008.
A. 10480 B. 10277 C. 10586 D. 10374

The diameter of a wheel is 49 m. How many revolutions will it make to cover a distance of 3200 m?
A. 17 B. 27 C. 24 D. 21

The average of five consecutive odd numbers is 41. Which one out of those is the largest number?
A. 47 B. 45 C.43 D. 49

What will come in place of both the question marks (?) in the following question?
23/?=2/92
A.56 B. 54 C. 44 D. 46

Enzymes are made up of which of the following:
A. Carbohydrates B. Edible proteins
C. Nitrogen containing carbohydrates D. Proteins with specific structure.

Most of the sources of energy that we use, represent the stored Solar Energy. Which of the
following is not ultimately derived from the Sun’s energy
A. Geothermal energy B. Wind energy C. Nuclear energy D. Biomass

The following is the main constituent of the biogas:
A. Methane B. Propane C. Ethane D. Butane

Which of the following is responsible for depletion of Ozone?
A. Carbon dioxide  B. Chlorofluoro carbon compounds  C. Methane D. Carbon monoxide

The main cause for the abundant coliform bacteria in the river Ganges is:
A. Discharge of industrial effluents B. Immersion of ashes
C. Disposal of half or unburnt corpses into water D. All of the above

The three ‘Rs’ that will help us to conserve natural resources and minimise their wastage are:

A. Recycle, Regenerate, Reuse B. Reduce, Regenerate, Reuse
C. Reduce, Redistribute, Reuse D. Reduce, Recycle, Reuse
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Directions for attempting the Questions No. 77 & 78:
In each of the following questions, a statement of assertion is given by the corresponding statement of
reason. Of the statements, MARK THE CORRECT ANSWER AS,
A. If both the assertion and the reason are true, and reason is the correct explanation of the
assertion.
B. If both the assertion and the reason are true, but reason is not the correct explanation of the
assertion.
C. If assertion is true, but reason is false.
D. If assertion is false, but reason is true.

77.  Assertion: Concave mirror is best suited for use in a solar cooker.
Reason: Concave mirror converges large amount of light of the Sun in to the Solar Cooker.

78.  Assertion: Solar cells are used to convert solar energy into electrical energy.
Reason: The Radiant heat present in the Solar energy does not change into electrical energy.

Directions for attempting the Questions No. 79 to 81.
Pick the odd one out among the following:

79.  A. Deluge B. Calamity C. Catastrophe D. War
80. A. Greedy B. Rapacious C. Endear D. Avaricious
81. A. Strength B. Sinew C. Muscle D. Vagrant

Directions for attempting the Questions No. 82 to 84.
Pick out the most effective word which can be substituted for the undermentioned words / sentence:
82.  Anything written in a letter, after it is signed:

A. Posterity B. Postdiction C. Post-script D. Corrigendum

83. Stealing from the writings of others.
A. Copying B. Refraining C. Reproducing D. Plagiarism

84. Regard for others as a principle of action:
A. Cynicism B. Altruism C. Nepotism D. Philanthropy

Choose the correctly spelt word in questions no. 85 & 86.
85. A, Equannimity B. Equinimity C. Equanimity D. Equanimmity

86. A. Omenous B. Ominous C. Omineous D. Ommineous

87. fAFAfof@d el & & 3R[EY ac+l arel g HieT T &2

ASEd B. SroTIfor c. afew D. 3TN
88. fawaifof@a eredl # eeyr adel arerm ereg i @ 72

A.Fafcs B. GO c.&da D. et
89. fowmem & wer @Yy fowve &

A fATr+3mer B. farg+3mem C. for:+3mer D. AT +3mem

90, ﬁw&ﬁﬁﬁmmﬂmgm%‘?
A EH_ B. Tl C. §FF D. Bl
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ANSWER KEY WST-GROUP-C-SO-SET-1-B

1 B 26 B 51 C 76 D
2 C 27 D 52 A 77 A
3 D 28 C 53 C 78 C
4 D 29 C 54 C 79 D
5 C 30 B 55 C 80 C
6 B 31 D 56 A 81 D
7 C 32 B 57 B 82 C
8 A 33 A 58 C 83 D
9 B 34 C 59 B 84 B
10 A 35 C 60 C 85 C
11 D 36 B 61 D 86 B
12 B 37 B 62 C 87 B
13 A 38 A 63 A 88 D
14 B 39 B 64 B 89 C
15 D 40 D 65 A 90 A
16 A 41 C 66 B

17 C 42 B 67 D

18 B 43 A 68 D

19 B 44 C 69 B

20 B 45 C 70 D

21 B 46 C 71 D

22 C 47 A 72 C

23 C 48 C 73 A

24 A 49 D 74 B

25 B 50 C 75 C




